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MFM 2P Formative Assessment: Similar Triangles & Pythagorean Theorem (Solutions)

Expectations you’re working on...

o Students will use their knowledge of ratio and proportion to i

o Students will solve problems involving right triangles using

Date:

problems related to similarity

the Pythagorean Theorem

Still Learning...

Almost There...

Got It!

Part A-Knowledge & Understanding

1. Use the diagram to answer the following questions:

a) Which two triangles are similar?
A BOE and A DBAC

b) How do you know they are similar?
L. Boeg = L BAC
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2. Solve for the unknown length. Round your answers to one decimal place
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Part B-Application

Round your answer to the nearest metre
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act that they are similar to find the length of BC. m:oé your work.

3. Two ladders are leaned up against a wall so that they make the same angle

with the ground. The 10-foot ladder reaches 8 feet up the wall. How much
|far up the wall does the 18-foot ladder reach?
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Part C-Thinking, Inquiry and Problem Solving

4. A student in your class states: “You can use either the Pythagorean Theorem or similar triangles while working on this problem.”

Do you agree with this statement? Provide support for your position (assume that the triangles in the diagram are similar).

PROBLEM

answers to the nearest metre.

AB=14m
AX=28m

BC=11m

Calculate the length and width of the pond. Round your
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